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Strona nr 4Widok z mostkiem



Symbol Nr nici Krzyżyki Motki Motki Motki
2 nitki 3 nitki 6 nitek

Kanwa 6635 1 1 1

� Anchor 158 6642 1 1 1

 Anchor 236 180 1 1 1

 Anchor 265 505 1 1 1

 Anchor 300 767 1 1 1

 Anchor 357 170 1 1 1

 Anchor 366 80 1 1 1

 Anchor 372 345 1 1 1

 Anchor 393 279 1 1 1

 Anchor 398 97 1 1 1

 Anchor 399 103 1 1 1

 Anchor 400 257 1 1 1

 Anchor 403 260 1 1 1

 Anchor 681 100 1 1 1

 Anchor 779 54 1 1 1

 Anchor 832 921 1 1 1

 Anchor 852 923 1 1 1

 Anchor 853 635 1 1 1

 Anchor 854 1699 1 1 1

 Anchor 859 1126 1 1 1

 Anchor 860 1705 1 1 1

 Anchor 861 1335 1 1 1

 Anchor 945 930 1 1 1

 Anchor 956 318 1 1 1

 Anchor 1007 276 1 1 1

 Anchor 1010 708 1 1 1

 Anchor 1013 130 1 1 1

 Anchor 1037 1364 1 1 1

 Anchor 1045 139 1 1 1

 Anchor 1047 91 1 1 1

 Anchor 1080 138 1 1 1

 Anchor 1082 362 1 1 1

 Anchor 1084 126 1 1 1
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